Combined Higher Secondary Level (10+2) Examination-2018

[Roll No.

IRegistration No.

Name

Test Venue iON Digital Zone Phulwarisharif
Test Time 1:00 PM - 2:00 PM

Test Date 11/07/2019

Section : General Intelligence

Q.1 9 9= ol I & Forad Sy I are @ Hafda § o ff Fafafl@a ageoa fi s
Tafda &1

(25, 49, 37)
Ans X" 1.(12,14,8)
75 2. (26, 64,120)
75 3.(16,64,78)
W 4645

Question ID : 98958017021
Status : Answered
Chosen Option : 4

Q.2 I HEAT-GTH i TG he [OITH &1 HEY 3¢ avg & Haifda & o9 fon Pafof@e der-gm &t
&t &g |efad &1

7,13

Ans  of 12331
X 217,21
X 3.17,25
X 4.15,19

Question ID : 98958017019
Status : Answered
Chosen Option: 1

Q3 3o ow gdT B G F A AR T@ AT, A & 7 R T a7 o

%

51

O




Question ID : 98958017029
Status : Answered
Chosen Option : 2

A of1.13
X216
<314
X411

Question ID : 98958017026
Status : Answered
Chosen Option : 1

Q.5 ol ar srarR-aggl # 9 & sier-wg v e o< & g 9 & ok g s 8139
ST JER-HHE &l gl
Ans X 1.1KMO

o 2. PRTW

75 3.BDFH
/5 4.CEGI

Question ID : 98958017014
Status : Answered
Chosen Option : 2

Q.6 Uehk ahis uTST #, KNIFE &t MPGHG & %0 # forar Sirar @1 39 9o & SWORD Rt &9 forar
SITQTm?




Ans X1 VYMTF
/5 2.UYMTE
75 3.uvQTF
o 4. UYmTF

Question ID : 98958017007
Status : Answered
Chosen Option : 4

Q.7 39 faerea o1 7 & ot AR sieR-uE & St avg Hafda & SR gERT 91aR-Eg UEd SiaR-
g | Hefda 81

CH:FP::GK:?
Ans X" 1.NU

5 2.mp

K 3L

W 20

Question ID : 98958017009
Status : Answered
Chosen Option: 1

¥ 3@ Il F T S AP S@er F 3 TH W AR

HHEIT HTFfd

O@&a

Ans

X 3

=)
3E
U2

Question ID : 98958017025




Status : Answered
Chosen Option: 2

Q.9 F=fafaa ar dEarsi & @ &= T ves fAffa add @ g S @ ik Ueh 3o 81 39 31erT
T&T 9g4 HifSgl

Ans X113
o 251
75 3.17
X 423

Question ID : 98958017023
Status : Answered
Chosen Option : 2

Q.10 SiFsh arsgepter quishn & SIgER F=foifRe ereal &l afeaa &2 |

1. Master
2. Marvel
3. Market
4. Marker
5. Marble
6. Margin

Ans  off 15643721
/X 2.54,6,3,2,1
75 3.6,54,21,3
/X 4.56,4,31,2

Question ID : 98958017006
Status : Answered
Chosen Option : 4

Q.11 fA=fafEa gfieror ) I T9m & g 39 for &) gl &t ok fohe &) Tearei ot smo &
e ATfeg?

8+15-20x10+5 = 47
Ans  off 1 +3fR- 8315
X 2. x 3R+ 53R8

75 3.+ 3R+, 10 8R 20

75 4.x 3R~ 153K 20

Question ID : 98958017018
Status : Not Answered
Chosen Option : --

Q.12 Tfe SAW @l 8264 & ¥4 | s foham 14T & 3k CUDDLE &Y 24623231522 & &4 # shigag
forar T 8, @t MEDULLA & & shigag forar sireem?

Ans  of 1.1422236151526
/X 2.1422236151625
/X 3.1422236161526

/X 4.1422237151525

Question ID : 98958017008
Status : Not Answered




l Chosen Option : --

Q.13 A1 3R Areht 84 & | waer, 2a & far &1 nff, aren oz g Y arar &1 7@ & fOar &t @ &9

Ans B 1 A

7 2. = A%

/X 3. R
f 4@

Question ID : 98958017012
Status : Answered
Chosen Option : 4

Q.14 v FEe F AR FE I S § S B Reee s (X Y st 2) F R mw s
e @1 I o efer o § % o7 @ @ed W R e

¥ ( 'E
& @
Ko ® @
® ©
©
X2 |® ©®
e
©
x 3 @@
O]
" 0«
®0 ©

Question ID : 98958017028
Status : Answered
Chosen Option : 4

Q.15 39 THI T TG & o1 TH HEAT] SH1 avg § Hafda g o1 fos fafefeaa age=a i g
Tafda &1

(16, 23,32)
Ans X" 1 (6,14,25)
o 2.(11,18,27)
75 3.(10,23, 46)




75 4.(10,17,28)

Question ID : 98958017020
Status : Answered
Chosen Option : 2

Q.16 I -G <hT T 3 1T g1 2reg; It g @ Haifda g Sid fon FAfafRe ereg-gm d o ereg

Ans

Hafda &1
et - e
K 1E R
X 2. giff - s
7 3. AT (hr5)
o 4 maoEeh

Question ID : 98958017013
Status : Answered
Chosen Option : 2

Q.17 26 S=Ta=Y 2012 <ht TTATE <kl i AT R uT?

Ans

75 1. wrerER

X 2. R

W 3. e
X 4. afER

Question ID : 98958017017
Status : Not Answered
Chosen Option : --

Q.18 & &y fRy g &, 39k g =R fArsemd |, 1. 111 3R IV feq 71q &1 =il aht @ At gQ, Wt
3 AR R 14 a2 § are g1, ag fAofa g &6 o= a1/@ s, =t or aifdhe Ta @

Ans

SR &l &/ §|

hYA

g oft R 5T TE 81
Tt &1 erreg &1

fArseptf:
1. g +ff o ey T &1
1. Tt oft sy e TE 81

lll. B 3T 1S &
IV. Tt sy 7S &1

75 1. See e (1) iR (1) SERT aRaT 21
of 2. Faa Frsa (111) srgeRor a=ar 21
7 3. e e (1)afR (1V) SERYT &R4 &1
75 4. et Frseh (1) STgERoT e 81

Question ID : 98958017016
Status : Answered
Chosen Option : 2

Q.19

Frafaf@a siaen 7 vs Rig (7) & T W H4 91 JER-gIH STQ?

El, GK, ?, KO, MQ




Ans

A
W 2.m
75 3.KM
K 40K

Question ID : 98958017011
Status : Answered
Chosen Option : 2

Q.20 = i @ IH avg R A FrESe A GIRG

Ans

X1, e
X 2@
K 3®
o 4 o

Question ID : 98958017010
Status : Answered
Chosen Option : 4

Q.21 f=fafaa ar gl § @ fiF e v AfYa a8d @ g S € iR T el @1 3 31T QU8 &t

Ans

gFTI
F R
X 2 aw@
X 3.fg
of 4

Question ID : 98958017015
Status : Answered
Chosen Option : 2

Q22 o 37 o TR e (A) § 75 7% §1 TN (A) T AT F 95 39 FeleqH a0 g

Ans

I T (FE) F G

B
CEEED
B
® & & @D
r I =2 | & | 4

X1 Faer 1, 3 3T 4
X2 Faer 1, 2 3T 3
X 3 Faer 2 3T 3

vigaa2 334

Question ID : 98958017024
Status : Answered
Chosen Option : 4




Q23 37 37 3@ FT TS F{ A DEARET 9T F AT F TET FT FIY H=oT ST B

Ans

QO0B®

Question ID : 98958017030
Status : Answered
Chosen Option: 3

Q.24 F=faf@a sjaen & usr Rg (?) &1 U R St T sngfi?
7,9,12,17,24, 35,2
Ans  of 1 48
75 2.45
75 3.47
75 4.52

Question ID : 98958017022
Status : Answered
Chosen Option : 1

V% 3@ fwew F o fowd & i amphy (X) AR ¥

5

X

Ans




F

X2

v &

X 4

ol G G G

Question ID : 98958017027
Status : Answered
Chosen Option : 3

Section : General Awareness

Q.1 dfA« Aererren AR & o= foras forar &7
Ans X" 1 greeR

X 2. g

W 3. s e

X 4. TR

Question ID : 98958017444
Status : Answered
Chosen Option : 2

Q.2 fa=fafEa d 9 fora Tamm faar & am @ ST Sirar @2
Ans (1. 31Meh

X 2. srfgad
X 3. wfrs
X 4 @R

Question ID : 98958017445
Status : Not Answered
Chosen Option : --

Q.3 fa=fafEd & @ sa-dt v wRd 6 i v T8 87
Ans X" 1 A

X 23R

X 3.7

of 4 ofer




Question ID : 98958017432
Status : Answered
Chosen Option : 4

Q.4 1982 & ufdars @<t it Asrarh frad w1 6 7 o2
Ans X" 1 zfayor s

75 2 gedieRe

/X 3. ufeam

o 4=

Question ID : 98958017450
Status : Not Answered
Chosen Option : --

Q.5 1974 ¥ YIERUT 1 UgT UIATY] UIeToT ht T ehis R wram am?
Ans X1ﬁﬁﬂ§@

o 2 e g

X 3.

/X 4. et g

Question ID : 98958017449
Status : Answered
Chosen Option : 2

Q.6 f=fafaa d 9 aF d emg ag= &7
Ans (1.3‘%’{6

K 2w

/X 3. TR

X 4 FueR

Question ID : 98958017441
Status : Answered
Chosen Option: 1

Q.7 FeAc & e #, IP o1 guf &u a1 @2
Ans  of 1 e idE

#< 2. See et

/X 3. S ddete

/X 4. g e

Question ID : 98958017438
Status : Not Answered
Chosen Option : --

Q.8 GRwRIeTRRwE_____ dfadl
Ans X1 mem R

o 2. o

/< 3. M




X 4 FREe

Question ID : 98958017443
Status : Answered
Chosen Option: 1

Q.9 uurwS Jg1 gieTT & aga Refaf@a # @ &9 @ "R a1 501 Iuesy g 82
Ans (1,11@(
X 2Ry

p
X 4. fReiR

Question ID : 98958017434
Status : Answered
Chosen Option: 1

Q.10 Aaroft gy At shier S wgi iR U g2
Ans X1 Gew
o 2. ofaren

X 3. @A

/X 4. aRaen

Question ID : 98958017452
Status : Not Answered
Chosen Option : --

Q.11 ¥ A 2.0 WHR A Ugeht R dow & Frafafrda § @ F=-ar Fofa oy m ar
Ans X 1. 7 AomR A A greon

25 2.10 v grdwite SushHt o s

/X 3. g WRA iR il R

W 4. 3u ofer & wEie s & et a8 saf

Question ID : 98958017454
Status : Answered
Chosen Option : 4

Q.12 1964 H STATERETS Ag< hl Yo & d1& WR & hrfaTgeh TUTHA T T2
Ans X" 1 HRReh 2aré

X 2.

/X 3. =R g

of 4. e Fer

Question ID : 98958017448
Status : Not Answered
Chosen Option : --

Q.13 f=faf@a 7 @ w-a1 e wRa &1 T w1 a1l e 82
Ans X" 1 fame gER




/X 2. ysre R
X 3. Ry e
o 4.t snsaft

Question ID : 98958017451
Status : Answered
Chosen Option : 4

Q.14 f=afaf@a 7 @ fFa gl &t a91a @ gerraer ot J Tgraeh A1 ST 82

Ans

X 1. AerdfE
o 2 Rafm
X 3. @R
/X 4 Fehaftm

Question ID : 98958017436
Status : Not Answered
Chosen Option : --

Q.15 #£ 2019 a & A & IFER, ret & Hait i 82

Ans

o 1. g R
X 2. it e
p SR Erc

75 4. gm

Question ID : 98958017439
Status : Answered
Chosen Option : 1

Q.16 WRd A 31t 2019 & 'fAfa’ o1 Gwmet uieror forar) ag s &2

Ans

o 1. Ta-ife e
/X 2. srEwEifie g
X 3. cig-gifies g
X 4. guREfies g

Question ID : 98958017453
Status : Answered
Chosen Option : 4

Q.17 w2019 #, gzTaTs f€¥a dziAe iR sitenfiier srgeen= uRwg (CSIR) & HifAFra ud smuifaes
Sftafasm &= & amfew! & uge ar Rafaf@a § | e uyp & 9u s it sjaaesg

Ans

fran?
X 1. AR der
o 2. oftw ik
75 3. R &I g arelt Aehren

/X 4 et

Question ID : 98958017435
Status : Not Answered
Chosen Option : --




Q.18 f=faf@a # @ fFa= w=h warg (Blood Circulation) Y @it fi?
Ans X 1 geilkm W afaE

75 2. dt eyt

/X 3. 3w @R AR

o 4 Rfem e

Question ID : 98958017437
Status : Answered
Chosen Option : 4

Q.19 ZRaardt ffe R @gi R G &2
Ans X 1 ufdw s

/< 2. arEs

X 3.y

of 4 sifean

Question ID : 98958017440
Status : Not Answered
Chosen Option : --

Q.20 1 577 2019 st Fe=rfoifRa & & forw 37 7 orusft Qar & 90 F af & wder fFam?
Ans X 1 derg St eled

W 2 cFE S

7< 3. g sifeeh

75 4. viee ARae

Question ID : 98958017455
Status : Answered
Chosen Option : 2

Q.21 FafafEa # @ wF-d 98 7w 7 & I qe it werae afar 82
Ans X1 gl

W 2 7w

K o3&

< 4. g

Question ID : 98958017442
Status : Not Answered
Chosen Option : --

Q.22 ufAg AR FfRARR Frferaf g7 a1 fifer wRa & Fafaf@a 7 @ fra woa @ we&fda &2
Ans X1 armm

o 2 s

/X 3. e e

F e

[ Question ID : 98958017446




Status : Not Answered
Chosen Option : --

Q.23 AT it T AT v Fafafaa 7 9 fora wog § aiftfes ®u 9 smaifSa &6 st 82
Ans  of 1 sifean

/X 2. 7eRE

/X 3. IRrEs

X 4 amm

Question ID : 98958017431
Status : Answered
Chosen Option : 2

Q.24 'z smsfean itk 33T qFaeh o1 @ i 82
Ans X1 smd

o 2. T R

7 3. siffama ey

X 4 PR

Question ID : 98958017447
Status : Answered
Chosen Option : 1

Q.25 WRd Ft df&ET vorreht & Tgf 7, NEFT 1 qof =4 (Full Form) @/ &2
Ans X 1. e SR thed giotaRE

J 2. AT ZAFEI Ik Thagd I

2K 3. A 3R e g

7 4. 321t RATTR HIEE g

Question ID : 98958017433
Status : Answered
Chosen Option : 1

Section : Quantitative Aptitude

Q1 us =T B TF= F 796 F I 20% F @ 38T £ A 15% o1 FAW F 6T 38 3T TE
Fr Frae F d=er afeT am

Ans o 1. 7138
X 2 3140
X3 3120
X 4 115

Question ID : 98958017412
Status : Answered
Chosen Option : 1

Q2 1 & o ol S & 5w, 70 FEw AR 36 SgoRA & AN, W HEar AT 3EF ogemH & dierhe
T 20% ¥| TEAT T T, STH AR T el WoRa (T & i) w87

At o118




X2 122
X3 81
X4 33

Chosen Option : --

Question ID : 98958017411
Status : Not Answered

Q.3 aaBc #r aRfARY 24 cm ¥ 3T 3WET =7 BC = 9 cm ¥ /BAC F1 @RS AD ¥, A |
FaFE g1 Al ID sET g

Ans X 1.3:2
v25:3
K37:5
Ka4b:2

Chosen Option : 2

Question ID : 98958017422
Status : Answered

Q4 0o 3T 90° ¥ & W o 5, (i = 1,2,3,...,20) F v Rz ¥ &,
COS O, 4 COS 0+ COS 0+ - + €08 00,0=20 AT (06, 400,400, + - ... 4+0,,) T AT FAT g7

s of 1 Qe
~< 2. 900°
< 3. 1800°
< 4 20°

Chosen Option : 1

Question ID : 98958017424
Status : Answered

Q.5 ol Fagea oF F A, 3 e F a0aT § owdr e, g F s #r G & oamh o
& ¥R # BT AR sEH S H AT F4w g7

Ans X1 4
X2 4:
<31
V2

- N a I

Chosen Option: 3

Question ID : 98958017408
Status : Answered

Q.6 uw gFEER R TTg F AT HeT W 10% FEE F AT AT §1 I 37 Ivg W A gfawa f
TE &1 Afgw Ik 98 39 a5g F AF Afhd Hed T a9 TP

x 1 9%%

Ans

V2 Qi%




X 3. 83%
< 4 10%

Question ID : 98958017410
Status : Answered
Chosen Option: 2

Q7 10-3/t Fr FTAT 79x00001y6, 88 ¥ qUTa: faemewr ¥ (x + y) F HF F T2
Ans X1 g
v29
K37
<46

Question ID : 98958017415
Status : Answered
Chosen Option : 1

Q.8 famr ram &z W (AW ) A AEA- A, B 3T C & gar Swady, wEl, A s ade, 2016 &
g #1 % v @ §@s H (100 & I A) R g 7

3
5 55
45
4 4
3.5
3 3 mA
e [T
2

mC

lan-16 Feb-16 Mar-16 Apr-16
Months

HEA-HYE 2016 & A, A F AT A= % FR F T wEAr 9w odr?
Ans X 1. 250

v 2 350

#3300

X 4 375

Mmoo B L@ N

Sale of cars (in hundreds)

=]

Question ID : 98958017427
Status : Not Answered
Chosen Option : --

@ 3-1?ETa+i=2 g ar (a11“+#) FT HTH FIT 272

Ans oK1 1
X2 118
Vs 2
X 2117

Question ID : 98958017417
Status : Answered




l Chosen Option : 3

Q.10 s Fea & aieeT UF T FATAT AT §| T H g B w2 ged F oW H g w12 §2
Ans (1. ‘Vrij.

X221

<3 1:2

X4 1:42

Question ID : 98958017420
Status : Answered
Chosen Option: 3

Q.11 21 FEamit & vk g@er & 3iaa 43 & WER ¥ 390 ¥ TUH TORE et w stea 33 ) e
TONE FEma # Awa 53 ¥ gEen f TRgE e 8

Ans X1 A7
X2 46
v 43
X 4 33

Question ID : 98958017409
Status : Answered
Chosen Option : 3

Q12 T EH vkmh F AT T, P T Q a5 o &, BT 3u km/h T 7f &, Q @ R d% (QR = 2PQ) =T

g 3R T S kan/h F AT, R E P A AW A B P H W Y FF SR P T A9H A F
e &= & sitwg 9T (km/h #) TR

Ans 18u

\frﬁ
Xz.g_u
y

X 4

Question ID : 98958017407
Status : Not Answered
Chosen Option : --

Q.13




@ 14 23 AW (SN WE) O A - A B R C % R Seal, sl A AT aden 2016 &
2 F & TE WE @s H (100 F o #) R gt #

[ T N ]

Sale of cars (in hundreds)

Y

larr16

5
5 55
45
4 4
35
3 3 ua
a2 uB
2

uC

Feb-16 Mar-16 Apr-16
Months

o A AR B & gEnr 3= o5 @l i TEr O WS, e C & @ el wad, " AR sne
2016 3 &=t 715 Fawer: 15%, 10%, 8% 3N 6% I FYUT 91 715 & C & FEw &= 7% Frwgen R

A A 3R B ¥ AR SAN & 2N A T o F H A FA 2
Ans X 1.177
V2 489 :
X 3 255 :
X 4384 :

1400
1300
1348
1385

Question ID : 98958017429
Status : Not Answered
Chosen Option : --

Q.14 35y g3 #r a1 S AB Y CD, 35 % amew fiig O ¥ faerelr &) fRar s & %5 AB = 7 cm, CD =
4 c¢cm, OB = 5 cm & OD #r =g F7 §7

Ans o 1.6 cm
< 25¢em
<375 cem
< 410 cm

Question ID : 98958017421
Status : Answered
Chosen Option: 3

Q.15

Ans 1 AB°
X2 0
X3 30°
X 4. 60°

0°< 8 < 90°, & AT tanh + cotf = 230 T &

Question ID : 98958017426
Status : Answered
Chosen Option : 1

Q.16




Ans

P = W= W

Question ID : 98958017416
Status : Answered
Chosen Option : 1

Q17 (sin23 1° + sin259°

sec?35° — C0t2550+ tan29°cot61” — Cﬂseczﬁlc’)

T TIpd A FAT g7

Ans x1_ |
1

2.2

“ 2

V30
r

Question ID : 98958017425
Status : Answered
Chosen Option : 4

Q.18 &= =5t & forw 10% ofd a¥ & &7 & Thgfy =0 3T WUROT =0 # 3o 7156 ¥ mewe (2 A) &
Ans 1. 6,000

+ 2. 5,000

< 3 6,600

< 4 5500

Question ID : 98958017414
Status : Answered
Chosen Option : 2

1 T (1.25)(1— 64X 1075) = 1.2496 + a & @ a =&Y &
Ans o1 0.00032




< 2.0.0032
# 3. 0.00016
< 4.0.0016

Question ID : 98958017418
Status : Not Answered
Chosen Option : --

Q20 3 4, 9 & TgF FN T 2 AR 98 F FeAAS F IS FAT E?

Ans

vi6:7
X27:6
x<38:7
X47:8

Question ID : 98958017413
Status : Answered
Chosen Option : 1

Q.21 mﬁmmméﬁ:aﬁrwﬁﬁmm%aﬁzmﬁrmwm,qgfrmgﬁmgvhafrzo

Ans

o F W FY @eaT ¥ @ 5T gaE 6.30 s @ I §| i o e S

XK 3 e gag 1 e
Xz.mﬁﬂ'gﬁﬁ'2aﬁ

X 3. mgegniy 12.00 o4
v 4 3T & gEg 2.30 4

Question ID : 98958017406
Status : Answered
Chosen Option : 4

Q.22 ABCD ws wemge= &, Fom 5o = 8 cm &1 7fy BD = 10 em, AC = 2yxam &, & Vx+ 10 &

Ans

A FT 22

<15
V27
X 3 2.\@
< 4 342

Question ID : 98958017423
Status : Not Answered
Chosen Option : --

Q.23




&2 T €% 3@ (3 WE) I FH- A, B 3T C ¥ ZEwr F=ad, wady, # A s, 2016
SN F F T W §i5 (100 F Ui F) R Frogeier g

13
5 55
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4 4
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3 3 mA
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2
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I I T )

Sale of cars (in hundreds)

iy A AT B ¥ Zarr 3= 1% W F WE T %, A C F @ A4, Wl A A e
2016 & &= 715 warer 15%, 10%, 8% 3T 6% = Wy o% 715 & arder, 2016 & gy w=fr 2wt
& @R &= 5 YT FRT H S w74 g7

: 2
r BN i
3

3
V21
7

. 4
K3 92_
9

. 4
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Ans

Question ID : 98958017430
Status : Not Answered
Chosen Option : --

Q24 o g4+ 4){ab+4(a+ b)) —4ab—0% T a=—4.b+—4, & -2} e k:

(a+b+4)417
Ans (1. 0

X 2 1

_2234

1

211'}r

1

,11_11'}’

X 3

X 4

Question ID : 98958017419
Status : Answered
Chosen Option : 1

Q.25




oo a7 &7 W (A %) 9 9 A- A, B 3R C ¥ I s=ad, e, 3 st s, 2016
2 FR F v wE @ (100 F o #) b F g F)

B
5 55
45
4 4
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3 3 mA
o mB
2
mC
o

lan-16 Feb-16 Mar-16 Apr-16
Months

I . ]

Sale of cars (in hundreds)

FASE-FTET, 2016 H A F garr 3R Am-aie, 2016 F SR B &SIy ¥ 8 FRT T FEaw A
e 47

Ans o110 : 19
X28:17
X312 :19
<45:8

Question ID : 98958017428
Status : Not Answered
Chosen Option : --

Section : English Language

Q.1 Identify the segment in the sentence which contains the grammatical error.
The little boy was so busy playing with his toy train that he do not even look up at us.
Ans x 1. busy playing with
J 2. he do not even
x 3. his toy train
x 4. look up at us

Question ID : 98958016324
Status : Answered
Chosen Option : 2

Q.2 Select the correct indirect form of the given sentence.

Mahesh said to the interviewer, "Sir, | was in charge of the production unit at my previous
office.”

Ans x 1. Mahesh told the interviewer | was in charge of the production unit at his previous
office.

J 2. Mahesh told the interviewer that he had been in charge of the production unit at his
previous office.

x 3. Mahesh told the interviewer that Sir was in charge of the production unit at my
previous office.

x 4. Mahesh told the interviewer you were in charge of the production unit at my
previous office.

Question ID : 98958016327
Status : Answered
Chosen Option : 2




Q.3 Select the most appropriate synonym of the given word.
CAMOUFLAGE
Ans J 1. disguise
75 2. exhibit
x 3. divulge
x 4. expose

Question ID : 98958016339
Status : Answered
Chosen Option : 1

Q.4 Select the correctly spelt word.
Ans X' 1 tantative

x 2. substentive
J 3. remunerative

x 4. speculetive

Question ID : 98958016346
Status : Answered
Chosen Option: 2

Q.5 Select the most appropriate word to fill in the blank.

A fresh interest rate cut by the Reserve Bank of India would largely
monsoon turns out in the months ahead.

Ans X" 1. determine

X 2. define
J 3. depend

X 4. demonstrate

on how the

Question ID : 98958016349
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate word to fill in the blank.

The pilgrims grew increasingly aware of the of sacred Buddhist texts in the Chinese
language and decided to travel to India in search of them.

Ans x 1. persistence
x 2. preference
J 3. paucity
x 4. parity

Question ID : 98958016348
Status : Answered
Chosen Option : 2

Q.7 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.

A. Baskets and carts flooded the street turning it into a mobile market.




B. Hearing their cries people with bags started coming out from their houses.
C. Suddenly the street came alive.
D. From one end to the other cries of the vendors rent the air.

Ans X" 1 ABDC
/5 2.DACB
#< 3.CBAD
o 4.croB
Question ID : 98958016336
Status : Answered
Chosen Option : 3
Q.8 Select the correct passive form of the given sentence.
The cyclone has damaged several crops.
Ans X 1. Several crops had been damaged by the cyclone.
x 2. Several crops are being damaged by the cyclone.
X 3. Several crops have damaged the cyclone.
« 4. Several crops have been damaged by the cyclone.
Question ID : 98958016326
Status : Answered
Chosen Option : 4
Q.9 Given below are four jumbled sentences. Out of the given options pick the one that gives
their correct order.
A. Today flax is used to make fine linen fabric.
B. The Neolithic man first clad himself with animal skins.
C. He also used flax which had a good fibre for making cloth.
D. But in those days cloth made of flax must have been very rough.
Ans

75 1.DABC
/5 2.CADB
#< 3.BDAC
o 4.8CDA

Question ID : 98958016337
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

With the groundwater table receding alarmingly, an ostrich mentality will only increase water
woes. Deficit rainfall (1) indiscriminate extraction of ground water (2) two major
reasons for (3) situation. Government must promote (4) harvesting and
conservation. Citizens must (5) learn to use water judiciously or else the State will run
out of water like Cape Town.

SubQuestion No : 10

Q.10 Select the most appropriate option to fill in blank No.1.

Ans

X 1. unless
X 2. also
X 3. but




( 4. and

Question ID : 98958016331
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

With the groundwater table receding alarmingly, an ostrich mentality will only increase water
woes. Deficit rainfall (1) indiscriminate extraction of ground water (2) two major
reasons for (3) situation. Government must promote (4) harvesting and
conservation. Citizens must (5) learn to use water judiciously or else the State will run
out of water like Cape Town.

SubQuestion No : 11
Q.11 Select the most appropriate option to fill in blank No.2.

Ans X" 1 be
x 2. was
W 3. are
X ais

Question ID : 98958016332
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

With the groundwater table receding alarmingly, an ostrich mentality will only increase water
woes. Deficit rainfall (1) indiscriminate extraction of ground water (2) two major
reasons for (3) situation. Government must promote (4) harvesting and
conservation. Citizens must (5) learn to use water judiciously or else the State will run
out of water like Cape Town.

SubQuestion No : 12
Q.12 Select the most appropriate option to fill in blank No.3.

Ans X" 1 those

x 2. their
X 3.a
(4. the

Question ID : 98958016333
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

With the groundwater table receding alarmingly, an ostrich mentality will only increase water
woes. Deficit rainfall (1) indiscriminate extraction of ground water (2) two major
reasons for (3) situation. Government must promote (4) harvesting and
conservation. Citizens must (5) learn to use water judiciously or else the State will run
out of water like Cape Town.

SubQuestion No : 13
Q.13 Select the most appropriate option to fill in blank No.4.




Ans & 1. soil
X 2. seed
X 3. crop
o 2 water

Question ID : 98958016334

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

With the groundwater table receding alarmingly, an ostrich mentality will only increase water
woes. Deficit rainfall (1) indiscriminate extraction of ground water (2) two major
reasons for (3) situation. Government must promote (4) harvesting and
conservation. Citizens must (5) learn to use water judiciously or else the State will run
out of water like Cape Town.

SubQuestion No : 14
Q.14 Select the most appropriate option to fill in blank No.5.
Ans & 1 anyhow

X 2. although
X 3. already
J 4. also

Question ID : 98958016335

Status : Answered

Chosen Option : 2

Q.15 Select the most appropriate antonym of the given word.

GAUNT
Ans X" 1 bent

J 2. plump
75 3.0ld
x 4. lean

Question ID : 98958016340

Status : Not Answered

Chosen Option : --

Q.16 Select the most appropriate word for the given group of words

A game in which no one wins
Ans x 1. triumph

x 2. feat
J 3. draw

x 4. conquest

Question ID : 98958016344

Status : Answered

Chosen Option : 2




Q.17 Select the most appropriate synonym of the given word.

MINIATURE
Ans J 1. diminutive

x 2. mammoth

x 3. gigantic

x 4. colossal

Question ID : 98958016338
Status : Answered
Chosen Option: 1

Ans X" 1 because it gives
X 2. enamel paint on this wall
X 3. We will use
J 4. a best finish

Q.18 Identify the segment in the sentence which contains the grammatical error.

We will use enamel paint on this wall because it gives a best finish.

Question ID : 98958016325
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

Ans x 1. 1 decide to make a donation for helping
x 2. No improvement
J 3. I decided to make a donation to help

x 4.1 decided for making a donation to help

After going through their brochure | has decided to make a donation to help their campaign.

Question ID : 98958016329
Status : Answered
Chosen Option : 3

Q.20 Select the most appropriate meaning of the given idiom

in a nutshell

Ans X" 1. packed very tightly
J 2. express very briefly
X 3. add nuts into something

X 4. put everything in a shell

Question ID : 98958016343
Status : Answered
Chosen Option : 2

Q.21 Select the most appropriate meaning of the given idiom.

be an open book
Ans




( 1. one about whom it is easy to know everything
X 2. one who is fond of reading even when travelling
x 3. one who advises others to be frank and unsecretive

X 4. one who has written an examination without preparation

Question ID : 98958016342
Status : Answered
Chosen Option: 1

Q.22 Select the wrongly spelt word.
Ans X" 1 opulence

x 2. opposition
x 3. oppression
J 4. oppurtunity

Question ID : 98958016347
Status : Answered
Chosen Option : 4

Q.23 Select the most appropriate word for the given group of words

A strong and fast moving stream of water
Ans X" 1. trickle

x 2. creek
x 3. rivulet
J 4. torrent

Question ID : 98958016345
Status : Not Answered
Chosen Option : --

Q.24 Select the most appropriate antonym of the given word.

VIRULENT
Ans J 1. amicable

x 2. dangerous
X 3. powerful

/X 4. lethal

Question ID : 98958016341
Status : Answered
Chosen Option : 4

Q.25 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select No improvement.

The government has adopted a tough stance with respect of terror and security.
Ans X" 1. about respect to

J 2. with respect to

x 3.in respect of




x 4. No improvement

Question ID : 98958016328
Status : Answered
Chosen Option : 1




